
Frage I (Welche Fragesätze gibt es?)

question I

1. Die Entscheidungsfrage (yes/no-questions)
hat kein Fragewort, sie kann nur mit “ja” oder “nein” beantwortet werden.

als Intonationsfrage
(Heben der Stimme am Satzende)
➜ die Satzmelodie kennzeichnet die Frage, der 

Aussagesatz wird zur Frage
Wortstellung: wie im Aussagesatz
S - V - O/Ergänzung

You're sneezing. You are ill?
He's got a cold. He's going to the doctor's?
Her arm is broken. She's fallen down the stairs?
The Johnsons have got a new car. They've won the lottery?

als Inversionsfrage
➜ in Fragesätzen mit einem Hilfs-/Modalverb 

(be, have, can, must etc.) tauschen Subjekt und
Hilfsverb den Platz
Wortstellung:
HV - S - V - O/Ergänzung

➜ in Fragesätzen bei den einfachen Zeitformen der
Vollverben (simple present und simple past) wird
mit to do umschrieben
Wortstellung:
Form von to do - S - V - O/Ergänzung

Are you ill?
Is he going to the doctor's?
Has she fallen down the stairs?
Have they won the lottery?
Can you help me?
Would she come to the party?

Did he feel good yesterday?
Did he go to the doctor's?
Does she have a cast?
Did she fall down the stairs?
Do they have a new car?
Did they win the lottery last week?

2. Fragesätze mit Fragewort (questions with interrogatives)
haben immer ein Fragewort, sie können nicht mit “ja” oder “nein” beantwortet werden.
Die Antwort enthält eine auf das Fragewort bezogene Information.

➜ das Fragewort oder
das Fragewort + Nomen oder
das Fragewort + of + Nomen/Pronomen ist Subjekt
Wortstellung:
Fragewort - Subjekt - Verb - Objekt/Ergänzungen
keine Umschreibung mit to do

Who is ill?
What is so interesting?
Who went to Spain during the last summer holidays?
What caused the accident in the gym yesterday?
Who has a cast?
Which of the boys hasn't made his homework?
What kind of music has been played at the party?

➜ das Fragewort ist nicht das Subjekt

In Fragesätzen mit einem Hilfs-/Modalverb 
(be, have, can, must etc.) tauschen Subjekt und
Hilfsverb den Platz (Inversion)
Wortstellung:
HV - S - V - O/Ergänzung
keine Umschreibung mit to do

In Fragesätzen mit den einfachen Zeitformen der 
Vollverben (simple present und simple past) wird
mit to do umschrieben
Wortstellung:
Form von to do - S - V - O/Ergänzung

Where is my wallet?
What are the children doing?
Where have you been?
Why must I eat this hamburger?
How can Boris do that?
When will your parents arrive? 

Who(m) did you talk to some minutes ago?
What did they read in the last German lesson?
When did they go to Spain?
Where happenend the accident yesterday?
Who do you like more, Lady Gogo or Lojey?
Which of the boys did the coach choose for the last match?
What kind of music do you like?

Siehe auch Frage II u. Fragepronomen!
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